An Application of Discrete Inequality to Second Order Nonlinear Oscillation

E. Thandapani*

Department of Mathematics, Madras University PG Centre, Salem-636 011, Tamil Nadu, India

I. Györi*

Department of Mathematics, University of Veszprem, Hungary

AND

B. S. LALLI

Department of Mathematics, University of Saskatchewan, Saskatoon, S7N 0W0, Canada Submitted by E. Stanley Lee

Received September 21, 1992

By using some simple discrete inequalities oscillation criteria are provided for the second order difference equations

$$\Delta^2 y_n + a_{n+1} f(y_{n+1}) = 0, \quad n \in N,$$

where the operator Δ is defined by $\Delta y_n = y_{n+1} - y_n$, $\{a_n\}$ is a real sequence. The function f is such that uf(u) > 0 for $u \neq 0$ and f(u) - f(v) = g(u, v)(u - v) for u, $v \neq 0$ for some nonnegative function g. © 1994 Academic Press, Inc.

1. Introduction

Consider the difference equation

$$\Delta^2 y_n + a_{n+1} f(y_{n+1}) = 0, \qquad n \in \mathbb{N}, \tag{1}$$

* Research was done during the summer of 1992 while the author was at the University of Saskatchewan as a visiting Professor of Mathematics.

200

0022-247X/94 \$6.00

Copyright © 1994 by Academic Press, Inc. All rights of reproduction in any form reserved. where $N = \{0, 1, 2, \dots\}$, Δ is the forward difference operator defined by $\Delta y_n = y_{n+1} - y_n$, $\{a_n\}$ is a real sequence, and $f: R \to R$ is such that

$$uf(u) > 0$$
 for $u \neq 0$ and $f(u) - f(v) = g(u, v)(u - v)$ (2)

for $u, v \neq 0$ and for some nonnegative function g. We let $N_{n_0}^{\alpha} = \{n_0, n_0 + 1, ..., \alpha\}$, where $n_0 \in N$, $\alpha > n_0$ and when $\alpha = \infty$, $N_{n_0}^{\alpha}$ is denoted by N_{n_0} .

By a solution of (1) we always mean a nontrivial sequence $\{y_n\}$ which satisfies (1) for all $n \in N$. A solution $\{y_n\}$ of (1) is said to be oscillatory if for every $n_0 \in N$ there exists $n \ge n_0$ such that $y_n y_{n+1} < 0$; otherwise it is called nonoscillatory. We say that (1) is oscillatory if all nontrivial solutions are oscillatory.

In recent years there has been considerable interest in the study of oscillation and asymptotic behavior of solutions of difference equations; see for example [1, 4, 5, 7-10] and the references cited therein. In most of the results mentioned above it is assumed that $\{a_n\}$ is a nonnegative sequence. Our aim is to obtain sufficient conditions for all solutions of (1) to be oscillatory without any sign condition on $\{a_n\}$. This is done by using the theory of discrete inequalities.

2. Some Basic Lemmas

In this section we present two lemmas which are interesting in their own right and which will be used in the proofs of our main results given in Section 3.

LEMMA 1. Let K(n, s, y) be defined on $N_{n_0} \times N_{n_0} \times R^+$ such that for fixed n and s, K is a nondecreasing function of y. Let $\{p_n\}$ be a given sequence and let $\{y_n\}$ and $\{z_n\}$ be defined on N_{n_0} satisfying for all $n \in N_{n_0}$

$$y_n \ge p_n + \sum_{s=n_0}^{n-1} K(n, s, y_n)$$
 (3)

and

$$z_n = p_n + \sum_{s=n_0}^{n-1} K(n, s, z_n).$$

respectively. Then $z_n \leq y_n$ for all $n \in N_{n_0}$.

Proof. Suppose there exists an integer $\ell \in N_{n_0}$ such that $z_{\ell+1} > y_{\ell+1}$ and $z_s \le y_s$ for $s \le \ell$. But then

$$z_{\ell+1} - y_{\ell+1} \leq \sum_{s=n_0}^{\ell} \left[K(\ell+1, s, z_s) - K(\ell+1, s, y_s) \right] \leq 0,$$

which is a contradiction.

Remark. The importance of the above lemma is that once the discrete inequality (3) is known then a lower bound of z_n can be found by replacing the inequality by an equation and solving the latter.

LEMMA 2. Suppose the function f satisfies condition (2). Let $\{y_n\}$ be a positive (negative) solution of (1) for $n \in N_{n_0}^{\alpha}$ such that

$$\frac{-\Delta y_{n_0}}{f(y_{n_0})} + \sum_{s=n_0}^{n-1} a_{s+1} + \sum_{s=n_0}^{n_1-1} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} \ge m$$
 (4)

for all $n \in N_{n_1}^{\alpha}$ and for some positive constant m; then

$$\Delta y_n \le -mf(y_n)(\Delta y_n \ge -mf(y_n))$$
 for all $n \in N_{n_1}^{\alpha}$.

Proof. Let $\{y_n\}$ be a solution of (1) satisfying the hypotheses of the lemma. Since

$$\frac{\Delta^2 y_n}{f(y_{n+1})} + a_{n+1} = 0,$$

on summing from n_0 to n-1, and using (4) along with the formula

$$\sum_{s=n_0}^{n-1} z_{s+1} \Delta v_s = z_s v_s |_{s=n_0}^n - \sum_{s=n_0}^{n-1} v_s \Delta z_s$$

for summation by parts and the inequality (4) we have

$$\frac{-\Delta y_n}{f(y_n)} \ge m + \sum_{s=n_1}^{n-1} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})}, \quad n \in N_{n_1}^{\alpha}.$$
 (5)

Since the sum in (5) is nonnegative, in view of (2), we get

$$y_n \Delta y_n < 0$$
 for $n \in N_n^{\alpha}$.

If $\{y_n\}$ is positive, then (5) becomes

$$\omega_n \geq mf(y_n) + \sum_{s=n_1}^{n-1} \frac{f(y_n)g(y_s, y_{s+1})(-\Delta y_s)}{f(y_s)f(y_{s+1})} \omega_s.$$

where $\omega_n = -\Delta y_n$. Define

$$K(n, s, z) = \frac{f(y_n)g(y_s, y_{s+1})(-\Delta y_s)}{f(y_s)f(y_{s+1})} z$$

for $n \in N_{n_1}^{\alpha}$ and $z \in R^+$. We note that K(n, s, z) is nondecreasing in z for each fixed n and s. So we can use Lemma 1 with $p_n = mf(y_n)$ to obtain $\omega_n \ge \nu_n$, where ν_n satisfies

$$\nu_n = mf(y_n) + \sum_{s=n_1}^{n-1} \frac{f(y_n)g(y_s, y_{s+1})(-\Delta y_s)}{f(y_s)f(y_{s+1})} \nu_s$$
 (6)

provided that $\nu_s \in R^+$ for all $s \in N_{n_1}^{\alpha}$. First dividing (6) by $f(y_n)$ and then applying operator Δ one can easily verify that $\Delta \nu_v \equiv 0$. Thus

$$\nu_n = \nu_1 = mf(y_n)$$
 for $n \in N_n^{\alpha}$.

The proof for the case when $\{y_n\}$ is negative follows from a similar argument by taking $\omega_n = \Delta y_n$ and $p_n = -mf(y_n)$.

3. MAIN RESULT

We begin with the following theorem which is the discrete analogue of a theorem of Waltman [11].

THEOREM 1. In addition to condition (2), assume that

$$\lim_{n\to\infty}\sum_{s=0}^{n-1}a_{s+1}=\infty;$$
 (A)

then (1) is oscillatory.

Proof. Suppose the contrary and let $\{y_n\}$ be a nonoscillatory solution of (1), which we may (and do) assume to be positive on N_{n_0} . In view of (A), (4) is satisfied on N_{n_1} for some sufficiently large n_1 . Thus, from Lemma 2

$$\Delta y_n \leq -mf(y_n)$$
 for all $n \in N_n$,

which, after summing yields

$$y_n \le y_{n_1} - mf(y_{n_1})(n - n_1).$$

Hence $y_n \to -\infty$ as $n \to \infty$. This contradicts the fact that $y_n > 0$ for all $n \in N_{n_0}$. The proof for the case when $\{y_n\}$ is negative is similar and hence is omitted.

The next result is concerned with the situation when the solutions of (1) are bounded away from zero.

THEOREM 2. In addition to condition (2), suppose that

$$\sum_{s=n_0}^{\infty} a_{s+1} \qquad converges \tag{7}$$

and

$$g(u, v) \ge \lambda > 0$$
 for all $u, v \ne 0$. (8)

If $\{y_n\}$ is a solution of (1) such that $\liminf_{n\to\infty} |y_n| > 0$, then

$$\sum_{s=n_0}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} < \infty,$$
 (9)

$$\frac{\Delta y_n}{f(y_n)} \to 0 \quad \text{as } n \to \infty, \tag{10}$$

and

$$\frac{\Delta y_n}{f(y_n)} = \sum_{s=n}^{\infty} a_{s+1} + \sum_{s=n}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})}$$
(11)

for all sufficiently large n.

Proof. Let $\{y_n\}$ be a nonoscillatory solution of (1) such that $\lim \inf_{n\to\infty} |y_n| > 0$. Then there exists m_1 , $m_2 > 0$, and $n_1 > n_0$ such that $|y_n| \ge m_1$ and $|f(y_n)| \ge m_2$ for $n \in N_{n_1}$. Suppose that (9) does not hold; then it follows from (7) that (4) is satisfied on N_{n_1} for some sufficiently large n_1 . For the case when $\{y_n\}$ is positive on N_{n_1} , it follows from Lemma 2 that

$$\Delta y_n \leq -mf(y_n).$$

After summing we have

$$y_n \le y_{n_1} - mf(y_{n_1})(n - n_1) \to -\infty$$
 as $n \to \infty$,

which contradicts the fact that $y_n > 0$ on N_{n_1} . The proof for the case when



 $\{y_n\}$ is negative on N_{n_1} is similar and is omitted. This completes the proof for (9). Next, summing the equation (1) once, we have for $n \in N_{n_0}$

$$\frac{\Delta y_n}{f(y_n)} = \beta + \sum_{s=n}^{\infty} a_{s+1} + \sum_{s=n}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})},$$
 (12)

where β is a constant such that

$$\beta = \frac{\Delta y_{n_0}}{f(y_{n_0})} - \lim_{n \to \infty} \sum_{s=n_0}^{n-1} a_{s+1} - \sum_{s=n_0}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})}.$$

To prove that (10) and (11) hold it suffices to show that $\beta = 0$. First suppose that $y_n > 0$ for all $n \in N_{n_0}$. If $\beta < 0$, then (7) and (9) imply that there exists $n_1 > n_0$ such that

$$\left| \sum_{s=n_1}^{n-1} a_{s+1} \right| \le -\frac{\beta}{4} \quad \text{and} \quad \left| \sum_{s=n_1}^{n-1} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} \right| < -\frac{\beta}{4}$$

for all $n \in N_{n_1}$. Now (12) implies that (4) holds on N_{n_1} . But then, by the argument given above, Lemma 2 and its proof lead to a contradiction of the fact that $y_n > 0$. If $\beta > 0$ then, since, $\lim_{n \to \infty} \Delta y_n / f(y_n) = \beta$, we have $\Delta y_n / f(y_n) \ge \beta / 2$ for all $n \in N_{n_1}$ with $n_1 \ge n_0$. We use (2) and (8) to get

$$\frac{g(y_n, y_{n+1})\Delta y_n}{f(y_{n+1})} \ge \frac{\lambda \beta}{2 + \lambda \beta}.$$

Thus

$$\sum_{s=n_1}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} \ge \lim_{n \to \infty} \sum_{s=n_1}^{n} \frac{\beta}{2} \left(\frac{\lambda \beta}{2 + \lambda \beta} \right) \to \infty,$$

which contradicts (9). This completes the proof that $\beta = 0$ for the case when $y_n > 0$. The proof for the case when $y_n < 0$ is similar.

THEOREM 3. Suppose that (2), (7), and (8) hold. Further, assume that

$$\liminf_{n \to \infty} A(n) > \frac{-1}{\lambda} \quad \text{where } A(n) = \sum_{s=n}^{\infty} a_{s+1}. \tag{13}$$

If

$$\sum_{n=0}^{\infty} \frac{A_+^2(n)}{1 + \lambda A(n)} = \infty, \tag{14}$$

where $A_{+}(n) = \max\{A(n), 0\}$, then (1) is oscillatory.

Proof. Suppose that (1) has a nonoscillatory solution $\{y_n\}$ such that $|y_n| > 0$ for $n \in N_{n_1}$. Since (8) implies that f(u) is strictly increasing for $u \ne 0$, we have $|f(y_n)| > 0$ for $n \in N_{n_1}$. And hence by Theorem 2 we have

$$\frac{\Delta y_n}{f(y_n)} \ge A(n) \tag{15}$$

and the inequality (9). Use (2) and (8) in (15) to get

$$\frac{g(y_n, y_{n+1})\Delta y_n}{f(y_{n+1})} \ge \frac{\lambda A(n)}{1 + \lambda A(n)}.$$
 (16)

Now, from (15) and (16), we obtain

$$\sum_{s=n_1}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} \ge \lambda \sum_{n_1}^{\infty} \frac{A_+^2(n)}{1 + \lambda A(n)},$$

which contradicts (9). This completes the proof of the theorem.

Remark. If $\sum_{s=n_0}^{\infty} a_{s+1}$ converges absolutely then $A(n) \to 0$ as $n \to \infty$ and condition (13) is automatically satisfied. We can replace (14) by $\sum_{n_0}^{\infty} A_+^2(n) = \infty$. The authors have not been able to improve condition (14). It would be better if one could impose a condition on A(n) which is independent of λ .

Before formulating the next theorem we point out that if A(n) converges then $h_0(n) = \sum_{s=n}^{\infty}$, a_{s+1} is well defined for all $n \in N_{n_0}$ and we assume that $h_0(n)$ is positive for all sufficiently large values of n. We define

$$h_1(n) = \sum_{s=0}^{\infty} \frac{[h_0(s)_+]^2}{1 + \lambda h_0(s)}$$

and

$$h_{m+1}(n) = \sum_{s=n}^{\infty} \frac{[h_0(s)_+ + \lambda h_m(s)_+]^2}{1 + \lambda (h_0(s)_+ + \lambda h_m(s)_+)^2}$$

for $m = 1, 2, \cdots$ and $h_0(n)_+ = \max\{h_0(n), 0\}.$

In our next theorem we need the following condition

There exists a positive integer M such that h_m exists for m = 1, 2, ..., M - 1 and h_M does not exist. (B)

THEOREM 4. Suppose that (2), (7), (8), (13), and (B) hold. Then (1) is oscillatory.

Proof. From the proof of Theorem 2 it follows that if $\{y_n\}$ is a nonoscillatory solution of (1) with $|y_n| > 0$ for $n \in N_{n_1}$ then

$$\frac{\Delta y_n}{f(y_n)} = h_0(n) + \sum_{s=n}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})}$$
(17)

and

$$\sum_{s=n}^{\infty} \frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} < \infty.$$
 (18)

From (17) we get $\Delta y_n/f(y_n) \ge h_0(n)$, which implies that

$$\frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} \ge \frac{\lambda [h_0(n)_+]^2}{1 + \lambda h_0(n)}.$$
 (19)

If M = 1, then (18) and (19) imply that

$$h_1(n) = \sum_{s=n}^{\infty} \frac{[h_0(s)_+]^2}{1 + \lambda h_0(s)} < \infty,$$

which contradicts the non-existence of $h_M(n) = h_1(n)$. If M = 2, then from (17) and (19) we have

$$\frac{\Delta y_n}{f(y_n)} \ge h_0(n) + \lambda \sum_{s=n}^{\infty} \frac{[h_0(s)_+]^2}{1 + \lambda h_0(s)} = h_0(n) + \lambda h_1(n),$$

from which it follows that

$$\frac{g(y_s, y_{s+1})(\Delta y_s)^2}{f(y_s)f(y_{s+1})} \ge h_0(n) + \frac{\lambda [h_0(n) + \lambda h_1(n))_+]^2}{1 + \lambda (h_0(n) + \lambda h_1(n))}.$$

Then, in view of (18), a summation of the last inequality leads to the contradiction of the non-existence of $h_M \equiv h_2$. A similar argument provides a contradiction for any integer M > 2.

EXAMPLE 1. Consider the equation

$$\Delta^2 y_n + \frac{(n+1)^2 2(2n^2+4n+1)}{n(n+2)} y_{n+1}^3 = 0, \qquad n = 1, 2, \dots$$
 (E₁)

The hypotheses of Theorem 1 are satisfied and hence (E_1) is oscillatory. One such solution is $y_n = (-1)^n/n$.

EXAMPLE 2. Consider the difference equation

$$\Delta^2 y_n - \frac{1}{2^{2n+3}} y_{n+1}^3 = 0, \qquad n = 0, 1, \dots$$
 (E₂)

It is easy to verify that all conditions of Theorem 2 are satisfied for (E_2) . Hence every nonoscillatory solution of (E_2) satisfies (9)–(11). One such solution is $y_n = 2^n$ with $\lim \inf_{n \to \infty} |y_n| > 0$.

REFERENCES

- R. P. AGARWAL, Difference calculus with applications to difference equations, in "International Series of Numerical Mathematics," Vol. 71, pp. 95-110. Birkhäuser, Basel, 1984
- R. Blas'ko, J. R. Graef, M. Hacik, and P. W. Spikes, Oscillatory behavior of solutions of nonlinear differential equations of the second order, J. Math. Anal. Appl. 151 (1990), 330-343.
- 3. I. GYÖRI AND G. LADAS, "Oscillatory Theory of Delay Differential Equations with Applications," Oxford Univ. Press (Clarendon); London/New York, 1991.
- 4. J. W. HOOKER AND W. T. PATULA, A second order nonlinear difference equation: oscillation and asymptotic behavior, J. Math. Anal. Appl. 91 (1983), 9-29.
- M. R. S. KLULENOVIC AND M. BUDINCENIC, Asymptotic analysis of nonlinear second order difference equation, Anal. Sti. Univ. Iasi 30 (1984), 39-52.
- M. K. KWANG AND J. S. W. WONG, An application of integral inequality to second order nonlinear oscillation, J. Differential Equations 46 (1982), 63-77.
- G. Ladas, "Recent Developments in the Oscillation of Delay Difference Equations, Difference Equations; Stability and Control," pp. 321-332, Dekker, New York, 1990.
- B. SZMANDA, Oscillation theorems for nonlinear second order difference equations, J. Math. Anal. Appl. 79 (1981), 90-95.
- B. SZMANDA, Oscillation criteria for nonlinear second order difference equations, Ann Polon. Math. 43 (1983), 225-235.
- B. SZMANDA, Note on the behavior of solutions of a second order nonlinear difference equation, Atti. Acad, Naz. Lincei Rend. Cl. Sci. Fis. Mat. Natur. 69 (1980), 120-125.
- 11. P. Waltman, An oscillation criterion for a nonlinear second order equation. J. Math. Anal. Appl. 10 (1965), 439-441.